
What is the value of the 
angle X? 

What is the value of the 9 in this number? 
45.089

46,289 - 19,472 =

34,508 + 58,629 =

Draw an arrow to show where 2.78 would be on the 
number line below.

Convert 3    into an improper fraction.

Convert       into a mixed number.

Write the next fraction in the sequence as 
an improper and mixed number fraction.

Improper fraction                

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Au6.6

1
3

24
5

Find      of 40.2
5

+ 2 =4 3
4

17
4

13
4

9
4

3
4

32

x

29°

Mixed number

What is the value of the 
angle X? 

What is the value of the 9 in this number? 
45.089

46,289 - 19,472 =

34,508 + 58,629 =

Draw an arrow to show where 2.78 would be on the 
number line below.

Convert 3    into an improper fraction.

Convert       into a mixed number.

Write the next fraction in the sequence as 
an improper and mixed number fraction.

Improper fraction                

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Au6.6

1
3

24
5

Find      of 40.2
5

+ 2 =4 3
4

17
4

13
4

9
4

3
4

32

x

29°

Mixed number

What is the value of the 
angle X? 

What is the value of the 9 in this number? 
45.089

46,289 - 19,472 =

34,508 + 58,629 =

Draw an arrow to show where 2.78 would be on the 
number line below.

Convert 3    into an improper fraction.

Convert       into a mixed number.

Write the next fraction in the sequence as 
an improper and mixed number fraction.

Improper fraction                

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Au6.6

1
3

24
5

Find      of 40.2
5

+ 2 =4 3
4

17
4

13
4

9
4

3
4

32

x

29°

Mixed number

What is the value of the 
angle X? 

What is the value of the 9 in this number? 
45.089

46,289 - 19,472 =

34,508 + 58,629 =

Draw an arrow to show where 2.78 would be on the 
number line below.

Convert 3    into an improper fraction.

Convert       into a mixed number.

Write the next fraction in the sequence as 
an improper and mixed number fraction.

Improper fraction                

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

Au6.6

1
3

24
5

Find      of 40.2
5

+ 2 =4 3
4

17
4

13
4

9
4

3
4

32

x

29°

Mixed number


